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QUESTION 1

Which two statistical data types are available on the statistics page of the WebUI?(Choose two.)
A. Request AppRules/Page AppRules

B. Connections Accepted/Connections Refused

C. Bytes In/Bytes Out

D. Cache Hits/Cache Misses

Correct Answer: BC

QUESTION 2

Which three statistics are available when viewing content types of the cluster statistics page? (Choose three.)
A. average download time for a content type

B. percentage of bytes saved for a content type

C. total 404 errors for content type

D. average size for content type

E. total number of requests for a content type

Correct Answer: BDE

QUESTION 3

Which statement is true about "sticky" load balancing for Clusters?

A. The "clientip" setting does not apply to clusters, it only pertains to a Forwarder.

B. When set to "clientip" it uses the client\\'s IP address to bind the client to a particular target server.

C. When set to "clientip” it ensures that all subsequent requests are directed to the same client that made the initial
request.

D. When set to "clientip” it allows a DX sticky cookie to be sent to and stored by the client based on the IP address.

Correct Answer: B

QUESTION 4

You would like to configure an Ethernet interface with the following characteristics: Fast Ethernet port 3/1 10.10.10.1/24
VLAN 100 Which set configuration commands accurately completes this task?
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A. interface fastethernet 3/1 vlan id 100 encap vlan ip address 10.10.10.1.255.255.255.0
B. interface fastethernet 3/1 ip address 10.10.10.1.255.255.255.0 encap vlan vian id 100
C. interface fastethernet 3/1 encap vlan interface fast 3/1.1 vlan id 100 ip address 10.10.10.1.255.255.255.0
D. interface fastethernet 3/1 interface fast 3/1.1 encap vlan vlan id 100 ip address 10.10.10.1.255.255.255.0

Correct Answer: C

QUESTION 5

Which two authentication protocols can be configured for RIP on an ERX Edge Router?
A. PAP

B. MD5

C. CHAP

D. Clear text

Correct Answer: BD

QUESTION 6

What are three Load Balancing Policies which can be configured on a Juniper DXCluster? (Choose three.)
A. fewest outstanding requests

B. least conns

C. weighted round robin

D. urlhash

E. fastest response time

Correct Answer: ACD

QUESTION 7

An intermediate System experiencing memory problems indicates that it may have incomplete data by setting which bit
in its LSP?

A. more bit
B. patrtition bit

C. attached bit
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D. overload bit

Correct Answer: D

QUESTION 8

In which section of the WebUI does the administrator create and apply AppRules?
A.SLB

B. Cluster

C. Forwarder

D. Redirector

Correct Answer: B

QUESTION 9

In BGP MPLS VPNs, which router maintains VPN specific routing tables, also known as VRFs?
A P

B. CE

C.PE

D. SP

Correct Answer: C

QUESTION 10

Your company has two identical intranet servers which run both HTTP and HTTPS. You need to deploy the Juniper DX
in front of these servers maintaining the existing mix of protocols. Which statement is true?

A. You will need to create four Clusters, one for each server and each protocol.
B. You will need to create two Clusters, one for each protocol.

C. You will need to create a single Cluster which uses both protocols.

D. You will need to create a Cluster and a Redirector.

Correct Answer: B

QUESTION 11
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An administrator wants to ensure that all copyright notices in web content have the correct date. Which AppRule type
will be used?

A.RS

B. PTH
C.PTC
D. RTH

Correct Answer: C

QUESTION 12

What is the purpose of the OSPF hello packet?

A. advertises reachable networks

B. acknowledges the receipt of update packets

C. establishes and maintains neighbor relationships
D. describes the contents of the link state database

Correct Answer: C

QUESTION 13

What are two valid Cluster load balancing methods? (Choose two.)
A. fewest outstanding requests

B. urlhash

C. least connections

D. backup chaining

Correct Answer: AB

QUESTION 14

You would like to configure a channelized OC3 interface with the following properties:
Slot 4 Port 0 Path Channel 3 Virtual Tributary Group 4 Virtual Tributary 1 times lots 112
Which set of configuration commands accomplishes this goal?

A. controller sonnet 4/0Opath 1 ocl1 3path 1 dsl1 1/4/1 vt15path 1 ds1 1/4/1/channel 1group 1 timeslot 112

Latest INO-321 Dumps | JNO-321 Study Guide | JNO-321 Braindumps 5/6


https://www.pass4itsure.com/jn0-321.html
https://www.pass4itsure.com/jn0-321.html
https://www.pass4itsure.com/jn0-321.html

. VCE & PDF https://www.pass4itsure.com/jn0-321.html
ﬁ 2024 Latest passditsure JNO-321 PDF and VCE dumps Download

— PassditSure.com

B. controller sonnet 4/0Opath 3 ocl1 1path 3 ds1 1/4/1 vt15path 3 ds1 1/4/1/channel 1group 1 timeslot 112
C. controller sonnet 4/0path 1 ocl 3path 1 ds1 1/4/1 vt15path 1 ds1 1/4/1/channel 1group 1 timeslot 112
D. controller sonnet 4/0path 3 ocl 1path 3 dsl1 1/4/1 vtl5path 3 ds1 1/4/1/channel 1group 1 timeslot 112

Correct Answer: A

QUESTION 15

An administrator wants to deny access to a specific subsection on a financial application. Which App Rule type should
the administrator define?

A.RTC
B. PTH
C.RS

D.PTC

Correct Answer: C
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